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1. ��%��$& $���'�� �$��$���/ �$�$�%%�����,���� ���'�/ 

�55E?5G5=<5 F5E=<G5E>>= M>E??G4F4F<< 7D4644=E><E 744=<= < >>=FD>?O 
?D54>EF46?5=<O 6<?<M=>->><<G=4?L=OE GE?G7 

1.1. �5?4EFL ?D<<5=5=<O ?D>7D4<<O 

 
$45>G4O ?D>7D4<<4 ?D>D5EE<>=4?L=>7> <>4G?O O6?O5FEO G4EFLN >E=>6=>= 

?D>D5EE<>=4?L=>= >5D47>64F5?L=>= ?D>7D4<<O 6 E>>F65FEF6<< E $��% ?> E?5F<4?L=>EF< %�� 
08.02.14 ->E??G4F4F<O < >5E?G6<64=<5 <=>7>>64DF<D=>7> 4><46 G4EF< >E6>5=<O >E=>6=>7> 6<44 
?D>D5EE<>=4?L=>= 45OF5?L=>EF< (���): �55E?5G5=<5 F5E=<G5E>>= M>E??G4F4F<< 7D4644=E><E 
744=<= < >>=FD>?O ?D54>EF46?5=<O 6<?<M=>->><<G=4?L=OE GE?G7< E>>F65FEF6GNM<E 
?D>D5EE<>=4?L=OE >><?5F5=F<= (��): 

�� 2.1. �D74=<7>6O64FL D45>FO < GE?G7< ?> E>45D64=<N <=65=5D=OE E<EF5< < 
>>=EFDG>F<6=OE M?5<5=F>6, 6E>4OM<E 6 E>EF46 >5M57> <<GM5EF64 6 <=>7>>64DF<D=OE 4><4E. 

�� 2.2. �D74=<7>6O64FL F5E=<G5E>GN M>E??G4F4F<N <=65=5D=OE E<EF5< < 
>>=EFDG>F<6=OE M?5<5=F>6 744=<= 6<?<M=>->><<G=4?L=>7> E>7O=EF64. 

�� 2.3. �EGM5EF6?OFL >>=FD>?L F5E=<G5E>>7> E>EF>O=<O <=>7>>64DF<D=>7> 4><4 < 
>4G5EF64 ?D54>EF46?5=<O >><<G=4?L=OE D5EGDE>6. 

�� 2.4. �D74=<7>6O64FL GEFD4=5=<5 464D<==OE E<FG4F<= < ?D>6545=<5 <5D>?D<OF<= ?> 
557>?4E=>EF< 6<7=545OF5?L=>EF< <=>7>>64DF<D=OE 4><>6. 

$45>G4O ?D>7D4<<4 ?D>D5EE<>=4?L=>7> <>4G?O <>65F 5OFL <E?>?L7>64=46 4>?>?=<F5?L=>< 
?D>D5EE<>=4?L=>< >5D47>64=<< < ?D>D5EE<>=4?L=>= ?>47>F>6>5 D45>F=<>>6 6 ED5D5 6<?<M=>-
>><<G=4?L=>7> E>7O=EF64 ?D< =4?<G<< ED54=57> (?>?=>7>) >5M57> >5D47>64=<O. �?OF D45>FO =5 
FD55G5FEO. 

 
1.2. &5?L < 7444G< ?D>D5EE<>=4?L=>7> <>4G?O 

 
% F5?LN >6?445=<O G>474==O< 6<4>< ?D>D5EE<>=4?L=>= 45OF5?L=>EF< < 

E>>F65FEF6GNM<<< ?D>D5EE<>=4?L=O<< >><?5F5=F<O<< >5GG4NM<=EO 6 E>45 >E6>5=<O 
?D>D5EE<>=4?L=>7> <>4G?O 4>?65=: 

<<5FL ?D4>F<G5E><= >?OF: 
ý ?D>6545=<O ??4=>6OE < 6=5??4=>6OE >E<>FD>6 >5M57> <<GM5EF64 E F5?LN GEF4=>6?5=<O 

6>7<>6=OE ?D<G<= 6>7=<>=>65=<O 45D5>F>6 < 6OD45>F>< <5D ?> <E GEFD4=5=<N; 
ý ?>47>F>6>< (E>7?4E>64=<5) F5E=<G5E><E 7444=<= =4 6O?>?=5=<5 D45>F ?> E>45D64=<N < 

D5<>=FG <=65=5D=OE E<EF5< < >>=EFDG>F<6=OE M?5<5=F>6, 6E>4OM<E 6 E>EF46 >5M57> <<GM5EF64 
6 <=>7>>64DF<D=OE 4><4E;  

ý >D74=<74F<< F5E=<G5E>>7> >5E?G6<64=<O <=65=5D=>-F5E=<G5E><E E<EF5< < 
>>=EFDG>F<6=OE M?5<5=F>6 744=<=, ?D>6545=<5 ?>47>F>6>< 744=<= > E57>==>= M>E??G4F4F<<;  

ý D47D45>F>< < >>DD5>F<D>6>< F5E=<G5E>>= 4>>G<5=F4F<< ?> M>E??G4F4F<< <=65=5D=>-
F5E=<G5E><E E<EF5< < >>=EFDG>F<6=OE M?5<5=F>6 744=<=;  

ý ?>6E54=56=>7> (F5>GM57>) >>=FD>?O 74 D45>F>= 6=GFD<4><>6OE <=65=5D=OE E<EF5< < 
>5>DG4>64=<O <=>7>>64DF<D=OE 4><>6 < >4G5EF64 >><<G=4?L=OE D5EGDE>6, 6 F>< G<E?5 ?> 
E<7=4?4<, ?>EFG?4NM<< =4 ?4=5?L G?D46?5=<O 46F><4F<7<D>64==OE E<EF5< 4<E?5FG5DE>>7> 
>>=FD>?O < G?D46?5=<O (�%��');  

ý >F5=>< ?>FD55?5=<O, >>?<G5EF64 < >4G5EF64 ?>EFG?4NM<E >><<G=4?L=OE D5EGDE>6 =4 
>E=>64=<<, 44==OE >>=FD>?L=>-<7<5D<F5?L=OE ?D<5>D>6 (���) < GEFD4=5=<5 6 E>45 >E<>FD4 
6OO6?5==OE =5<E?D46=>EF5=, =4DGL5=<=, =5 FD55GNM<E >F>?NG5=<O ?D<5>D>6 GG5F4 < 
D57G?<D>64=<O >><<G=4?L=OE D5EGDE>6, ���;  

ý ?>47>F>6>< E6>4>> >5 >F>?NG5=<OE DG>>6>4EF6G < <=D>D<<D>64=<5 ?>?L7>64F5?5= 
<=>7>>64DF<D=OE 4><>6 > ?D>6>4<<OE <5D>?D<OF<OE ?> GEFD4=5=<N GD576OG4==OE < 464D<==OE 
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E<FG4F<=, ??4=<DG5<OE ED>>4E 6>EEF4=>6?5=<O D45>FO <=65=5D=OE E<EF5< < >5>DG4>64=<O, 
>4G5EF64 >><<G=4?L=OE D5EGDE>6;  

ý 674<<>45=EF6<O E 4<E?5FG5D>< < 464D<==O<< E?G654<< >><<G=4?L=OE >D74=<74F<= ?D< 
<E?>?=5=<< 74O6>< 4<E?5FG5DE>>= E?G65O;  

ý 6O?>?=5=<O D45>F ?> GEFD4=5=<N ?D<G<= 464D<< < ?D54>F6D4M5=<N D4E?D>EFD4=5=<O 
?>E?54EF6<= 464D<< <=>7>>64DF<D=OE 4><>6;  

ý D47D45>F>< >><??5>E4 <5D>?D<OF<= ?> 557>?4E=><G < 5576D54=><G ?D55O64=<N ?N45= 6 
?><5M5=<OE 744=<O 6 746<E<<>EF< >F <E ??>M44<, ??4=<D>6><, >E65M5==>EF<, <=E>?OF<<, 
<<>D>>?<<4F4, 6>74GE>>5<5=4, GD>6=O LG<4 < 6<5D4F<<, <>=<7<DGNM<E < =5<>=<7<DGNM<E 
<7?GG5=<=;  

ý D47D45>F>< >><??5>E4 <5D>?D<OF<=, =4?D46?5==OE =4 ?D54>F6D4M5=<5 >D<<<=4?L=OE 
?D>O6?5=<=, F5DD>D<EF<G5E><E 4>F>6 < <E ?>E?54EF6<=;  

ý D47D45>F>< <5D>?D<OF<= ?> 6O?>?=5=<N FD55>64=<= 4>EFG?=>EF< 744=<O 4?O 
<4?><>5<?L=OE 7DG?? =4E5?5=<O. 

G<5FL: 
ý ?D<<5=OFL <=EFDG<5=F4?L=O5 <5F>4O >>=FD>?O F5E=<G5E>>7> E>EF>O=<O >>=EFDG>F<6=OE 

M?5<5=F>6 < E<EF5< <=65=5D=>7> >5>DG4>64=<O >5M57> <<GM5EF64;  
ý E>EF46?OFL ?5D5G5=L (??4=) D45>F < GE?G7 < >?D545?OFL E4D4>F5D, >5N5<O, F5E=>?>7<N 

D5<>=F4, =5>5E>4<<O5 <4F5D<4?O < >5>DG4>64=<5 4?O GEFD4=5=<O 45D5>F>6 < =5<E?D46=>EF5= 
>5M57> <<GM5EF64 6 <=>7>>64DF<D=>< 4><5; 

ý >D>D<?OFL 4>FO < ?D54?<E4=<O ?> D57G?LF4F4< >E<>FD>6 < ?D>65D>>;   
ý 65EF< 6GD=4?O >E<>FD>6 < E>EF46?OFL 45D5>F=O5 654><>EF<; 
ý ?D<<5=OFL <=EFDG<5=F4?L=O5 <5F>4O >>=FD>?O F5E=<G5E>>7> 
ý E>EF>O=<O >>=EFDG>F<6=OE M?5<5=F>6 < E<EF5< <=65=5D=>7> >5>DG4>64=<O 744=<=; 
ý >?D545?OFL E4D4>F5D, >5N5<O, F5E=>?>7<N D5<>=F4, =5>5E>4<<O5 <4F5D<4?O < 

>5>DG4>64=<5 4?O GEFD4=5=<O 45D5>F>6 < =5<E?D46=>EF5= 744=<=; 
ý ?D<<5=OFL ?D>7D4<<=>5 >55E?5G5=<5 < E>6D5<5==O5 <=D>D<4F<>==O5 F5E=>?>7<<, 

<E?>?L7G5<O5 >D74=<74F<5=; 
ý >?D545?OFL >>?<G5EF6> < ?>>474F5?< >4G5EF64 ?>EFG?4NM<E >><<G=4?L=OE D5EGDE>6;  
ý 4>>G<5=F<D>64FL <E?>?=5=<5 FD55>64=<= 4>F>6 6<?<M=>7> 74>>=>44F5?LEF64 $>EE<=E>>= 

$545D4F<< < GE?>6<= 4>7>6>D>6 6 G4EF< D45>FO ?> >>=FD>?N >4G5EF64 ?>EFG?4NM<E 
>><<G=4?L=OE D5EGDE>6; 

ý >?D545?OFL >FEGFEF6<5 6=5L=<E ?>6D5645=<= < =4456=>EFL <5E4=<G5E><E E>54<=5=<=, 
F5?>EF=>EFL M?5>FD<G5E><E E>54<=5=<= ?D<5>D>6 GG5F4 < D57G?<D>64=<O >><<G=4?L=OE D5EGDE>6; 

ý D4E?>7=464FL 6E5 =5LF4F=O5 E<FG4F<<, D57<EFD<DG5<O5 ?D<5>D4<< GG5F4 < ���;  
ý <45=F<D<F<D>64FL =5<E?D46=>EF< ?D<5>D>6 GG5F4 < D57G?<D>64=<O >><<G=4?L=OE 

D5EGDE>6, ���; 
ý >D74=<7>6O64FL D45>FG D45>G<E E?5F<4?<EF>6 6 GE?>6<OE 464D<==OE < 6>EEF4=>6<F5?L=OE 

D45>F;  
ý >?D545?OFL ?>DO4>> 45=EF6<= 6 464D<==OE E<FG4F<OE E F5?LN ?>>4?<74F<< < 

?D54>F6D4M5=<O GM5D54 <<GM5EF6G D<7<G5E><E < ND<4<G5E><E ?<F; 
ý ?D><76>4<FL =5>5E>4<<O5 >F>?NG5=<O <=65=5D=OE E<EF5< 7D4644=E><E 744=<= 6 D4<>4E 

?>>4?<74F<< < ?D54>F6D4M5=<O D4E?D>EFD4=5=<O ?>E?54EF6<= 464D<=; 
ý ?D<=<<4FL ?D>D<?4>F<G5E><5 <5DO 4?O E=<65=<O GD>6=O >?4E=>EF5= D47?<G=>7> 6<44 < <E 

?>E?54EF6<= 6 ?D>D5EE<>=4?L=>= 45OF5?L=>EF< < 5OFG; 
ý >F5=<64FL GD>6=< 4>EFG?4 ?5DE>=4?4 < ?>?L7>64F5?5= F5DD<F>D<N, 6 744=<5 (E>>DG65=<5) < 

>>=>D5F=O5 ?><5M5=<O. 
7=4FL: 

ý <=65=5D=O5 E<EF5<O, >5>DG4>64=<5 < >>=EFDG>F<6=O5 M?5<5=FO <=>7>>64DF<D=>7> 4><4;  
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ý EFD><F5?L=O5 <4F5D<4?O < F5E=>?>7<< D5<>=F4 <=65=5D=OE E<EF5<, >5>DG4>64=<O < 
>>=EFDG>F<6=OE M?5<5=F>6 <=>7>>64DF<D=>7> 4><4; 

ý 54<=4O E<EF5<4 >>=EFDG>F>DE>>= 4>>G<5=F4F<<; 
ý 45D5>FO <=65=5D=OE E<EF5< < >>=EFDG>F<6=OE M?5<5=F>6 <=>7>>64DF<D=OE 4><>6 < 

F5E=>?>7<< <E GEFD4=5=<O;  
ý <5F>4O 6<7G4?L=>7> < <=EFDG<5=F4?L=>7> >5E?54>64=<O >5M57> <<GM5EF64 6 

<=>7>>64DF<D=>< 4><5; 
ý >E=>6=O5 ?>?>65=<O ?D46<? M>E??G4F4F<< <=65=5D=>7> >5>DG4>64=<O < >>=EFDG>F<6=OE 

M?5<5=F>6 744=<=;  
ý F5E=>?>7<< M=5D7>E55D565=<O < M=5D7>MDD5>F<6=>EF< 4?O ?>?L7>64F5?5= 6<?OE 

?><5M5=<=; 
ý FD55>64=<O > ?>65D>5, E>45D64=<N < <E?>?L7>64=<N ?D<5>D>6 GG5F4; 
ý ?D46<?4 < =>D<O F5E=<G5E>>= M>E??G4F4F<< 6<?<M=>7> D>=44; 

 
1.3. �5N5< ?D>D5EE<>=4?L=>7> <>4G?O 

�5N5< ?D>D5EE<>=4?L=>7> <>4G?O 6E57> 288 G4E>6, 6 F>< G<E?5: 
3 >5GG5=<5 ?> >GDE4< 288 G4E4 6>?NG4O: 
4) >5N5< D45>FO >5GG4NM<EEO 6> 674<<>45=EF6<< E ?D5?>4464F5?5< 3 160 G4E4; 
5) E4<>EF>OF5?L=>= D45>FO >5GG4NM57>EO 3 106 G; 
3 ?D><56GF>G=>= 4FF5EF4F<< 3 22 G4E>6. 
�D4>F<>4: 
3 GG55=>= ?D4>F<>< 3 36 G4E>6; 
3 ?D><76>4EF65==>= ?D4>F<>< 3 36 G4E>6. 
 

2.$��'�,&�&/ �%�����/ �$�$�%%�����,���� ���'�/ 

$57G?LF4F>< >E6>5=<O ?D>D5EE<>=4?L=>7> <>4G?O O6?O5FEO >6?445=<5 >5GG4NM<<<EO 
6<4>< ?D>D5EE<>=4?L=>= 45OF5?L=>EF< (���) �55E?5G5=<5 F5E=<G5E>>= M>E??G4F4F<< 
7D4644=E><E 744=<= < >>=FD>?O ?D54>EF46?5=<O 6<?<M=>->><<G=4?L=OE GE?G7, 6 F>< G<E?5 
?D>D5EE<>=4?L=O<< (��) < >5M<<< (��) >><?5F5=F<O<<: 

�>4 �4<<5=>64=<5 D57G?LF4F4 >5GG5=<O 
�� 2.1. �D74=<7>6O64FL D45>FO < GE?G7< ?> E>45D64=<N <=65=5D=OE E<EF5< < 

>>=EFDG>F<6=OE M?5<5=F>6, 6E>4OM<E 6 E>EF46 >5M57> <<GM5EF64 6 
<=>7>>64DF<D=OE 4><4E 

�� 2.2. �D74=<7>6O64FL F5E=<G5E>GN M>E??G4F4F<N <=65=5D=OE E<EF5< < 
>>=EFDG>F<6=OE M?5<5=F>6 744=<= 6<?<M=>->><<G=4?L=>7> E>7O=EF64 

�� 2.3. �EGM5EF6?OFL >>=FD>?L F5E=<G5E>>7> E>EF>O=<O <=>7>>64DF<D=>7> 4><4 < 
>4G5EF64 ?D54>EF46?5=<O >><<G=4?L=OE D5EGDE>6 

�� 2.4. �D74=<7>6O64FL GEFD4=5=<5 464D<==OE E<FG4F<= < ?D>6545=<5 <5D>?D<OF<= ?> 
557>?4E=>EF< 6<7=545OF5?L=>EF< <=>7>>64DF<D=OE 4><>6 

  
�� 1. �O5<D4FL E?>E>5O D5L5=<O 7444G ?D>D5EE<>=4?L=>= 45OF5?L=>EF< 

?D<<5=<F5?L=> > D47?<G=O< >>=F5>EF4< 
�� 2. �E?>?L7>64FL E>6D5<5==O5 ED54EF64 ?><E>4, 4=4?<74 < <=F5D?D5F4F<< 

<=D>D<4F<<, < <=D>D<4F<>==O5 F5E=>?>7<< 4?O 6O?>?=5=<O 7444G 
?D>D5EE<>=4?L=>= 45OF5?L=>EF< 

�� 3. �?4=<D>64FL < D54?<7>6O64FL E>5EF65==>5 ?D>D5EE<>=4?L=>5 < ?<G=>EF=>5 
D476<F<5, ?D54?D<=<<4F5?LE>GN 45OF5?L=>EFL 6 ?D>D5EE<>=4?L=>= ED5D5, 
<E?>?L7>64FL 7=4=<O ?> D<=4=E>6>= 7D4<>F=>EF< 6 D47?<G=OE 6<7=5==OE 
E<FG4F<OE 

�� 4. -DD5>F<6=> 674<<>45=EF6>64FL < D45>F4FL 6 >>??5>F<65 < >><4=45 
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�� 5. �EGM5EF6?OFL GEF=GN < ?<EL<5==GN >><<G=<>4F<N =4 7>EG44DEF65==>< O7O>5 
$>EE<=E>>= $545D4F<< E GG5F>< >E>55==>EF5= E>F<4?L=>7> < >G?LFGD=>7> 
>>=F5>EF4 

�� 6. �D>O6?OFL 7D4644=E>>-?4FD<>F<G5E>GN ?>7<F<N, 45<>=EFD<D>64FL >E>7=4==>5 
?>6545=<5 =4 >E=>65 FD44<F<>==OE >5M5G5?>65G5E><E F5==>EF5=, 6 F>< G<E?5 E 
GG5F>< 74D<>=<74F<< <56=4F<>=4?L=OE < <56D5?<7<>7=OE >F=>L5=<=, 
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4. '%����/ $������&�� �$�$�%%�����,���� ���'�/ 
4.1. &D55>64=<O > <<=<<4?L=><G <4F5D<4?L=>-F5E=<G5E>><G >55E?5G5=<N 
$54?<74F<O ?D>7D4<<O ?D>D5EE<>=4?L=>7> <>4G?O ��.02 �55E?5G5=<5 

F5E=<G5E>>= M>E??G4F4F<< 7D4644=E><E 744=<= < >>=FD>?O ?D54>EF46?5=<O 6<?<M=>-
>><<G=4?L=OE GE?G7 ?D54GE<>FD5=O E?54GNM<5 E?5F<4?L=O5 ?><5M5=<O: 

3 �45<=5F «&5E=<G5E>>= M>E??G4F4F<< 7D4644=E><E 744=<= < >>=FD>?O 
?D54>EF46?5=<O 6<?<M=>->><<G=4?L=OE GE?G7», >E=4M5==O= >5>DG4>64=<5<:, 
F5E=<G5E><<< ED54EF64<< ?5DE>=4?L=O<< >><?LNF5D4<<, <G?LF<<54<==4O 4>E>4, 
?D>5>F>D. 

�5>DG4>64=<5 GG55=OE >45<=5F>6 < D45>G<E <5EF >45<=5F4: E?5F<4?<7<D>64==4O 
<555?L. 

&5E=<G5E><5 ED54EF64 >5GG5=<O: =>GF5G> < ?D>5>F>D. 
$54?<74F<O ?D>D5EE<>=4?L=>7> <>4G?O ?D54?>?4745F >5O74F5?L=GN GG55=GN < 

?D><76>4EF65==GN ?D4>F<><. 
 

4.2. �=D>D<4F<>==>5 >55E?5G5=<5 >5GG5=<O 
 

�5D5G5=L D5>><5=4G5<OE GG55=OE <744=<=, �=F5D=5F-D5EGDE>6, 
4>?>?=<F5?L=>= ?<F5D4FGDO 

�E=>6=O5 <EF>G=<><: 
1. �><<>6, �. �. ->E??G4F4F<O, >5E?G6<64=<5 < D5<>=F >5M57> <<GM5EF64 

<=>7>>64DF<D=>7> 4><4 : GG55=<> / �.�. �><<>6, �.%. &<<4E>64, �.�. �><>>6. 4 �>E>64 : 
��$$�-�, 2022. 4 295 E. 4 (%D54=55 ?D>D5EE<>=4?L=>5 >5D47>64=<5). 4 DOI 
10.12737/1031593. - ISBN 978-5-16-015410-7. - &5>EF : M?5>FD>==O=. - URL: 
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2. �>=4D4FL564, �. �. '?D46?5=<5 <=>7>>64DF<D=O<< 4><4<< : GG55=>5 ?>E>5<5 / �. 
�. �>=4D4FL564, �. �. �<=>>6. 4 '?LO=>6E> : '?LO=>6E><= 7>EG44DEF65==O= F5E=<G5E><= 
G=<65DE<F5F, 2018. 4 224 c. 4 ISBN 978-5-9795-1792-6. 4 &5>EF : M?5>FD>==O= // 
&<DD>6>= >5D47>64F5?L=O= D5EGDE IPR SMART : [E4=F]. 4 URL: 
https://www.iprbookshop.ru/106127.html 

3. �O7<<>6, �. �.  �47>E=4565=<5: GEFD>=EF6> < M>E??G4F4F<O 747>6>7> E>7O=EF64 : 
GG55=<> 4?O ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O / �. �. �O7<<>6, �. �. �GE56. 4 6-5 
<74., <E?D. < 4>?. 4 �>E>64 : �744F5?LEF6> .D4=F, 2021. 4 392 E. 4 (�D>D5EE<>=4?L=>5 
>5D47>64=<5). 4 ISBN 978-5-534-12470-5. 4 &5>EF : M?5>FD>==O= // �5D47>64F5?L=4O 
??4FD>D<4 .D4=F [E4=F]. 4 URL: https://urait.ru/bcode/474942 

4. $5>D4=>6, .. �.  �=65=5D=O5 E5F<: E>6D5<5==O5 FDG5O < <745?<O 4?O D5<>=F4 < 
EFD><F5?LEF64 : GG55=>5 ?>E>5<5 4?O ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O / 
.. �. $5>D4=>6. 4 2-5 <74., ?5D5D45. < 4>?. 4 �>E>64 : �744F5?LEF6> .D4=F, 2021. 4 
157 E. 4 (�D>D5EE<>=4?L=>5 >5D47>64=<5). 4 ISBN 978-5-534-04929-9. 4 &5>EF : 
M?5>FD>==O= // �5D47>64F5?L=4O ??4FD>D<4 .D4=F [E4=F]. 4 URL: 
https://urait.ru/bcode/472228 

5. �?4=<D>64=<5, GG5F < >4?L>G?<D>64=<5 GE?G7 6<?<M=>->><<G=4?L=>7> E>7O=EF64 : 
GG55=>5 ?>E>5<5 > <7GG5=<N >GDE4 / E>EF46<F5?< �. �. �4DF4564, %. �. �>64?56E>4O, �. .. 
�>64?56E>4O. 4 �5?7>D>4 : �5?7>D>4E><= 7>EG44DEF65==O= F5E=>?>7<G5E><= G=<65DE<F5F 
<<. �.�. ,GE>64, -�% �%�, 2012. 4 169 c. 4 &5>EF : M?5>FD>==O= // &<DD>6>= 
>5D47>64F5?L=O= D5EGDE IPR SMART : [E4=F]. 4 URL: 
https://www.iprbookshop.ru/28381.html 
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�744F5?LEF6> .D4=F, 2021
534-13206-9. 4 &5>EF : M?5
https://urait.ru/bcode/470041

2. $<7<>>-F5E=<G5E><5
>>=EFDG>F<= 7D4644=E><E
�545=56, �. �. �4F65564
7>EG44DEF65==O= F5E=<G5E
8265-1791-8. 4 &5>EF : M?
[E4=F]. 4 URL: https://www
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?>E>5<5 4?O ED54=57> ?D
�>E>64 : �744F5?LEF6> .
ISBN 978-5-534-10362-5. 
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ED54=57> ?D>D5EE<>=4?
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380 E. 4 (�D>D5EE<>=4?L
M?5>FD>==O= // �5D4
https://urait.ru/bcode/471257

6. �4746?G>, �. �.  �E=
>64DF4? : GG55=>5 ?>E>5
�744F5?LEF6> .D4=F, 2023
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https://urait.ru/bcode/515498
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<=>7>>64DF<D=O<< 4><
>5E?G6<64=<O. �5M<5 FD55

5. ��%& $ 51617
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, 2021. 4 450 E. 4 (�D>D5EE<>=4?L=>5 >5D47>6
F : M?5>FD>==O= // �5D47>64F5?L=4O ??4FD>D<4 .
70041 
G5E><5 ?D<=F<?O ?D>5>F<D>64=<O < M>E??G4
=E><E 744=<=. '4EFL 1. �4DG6=O5 EF5=O : GG5
F65564, �. �. �4>4D>6, �. �. ,G5<=. 4 
=<G5E><= G=<65DE<F5F, -�% �%�, 2017. 4 
F : M?5>FD>==O= // &<DD>6>= >5D47>64F5?L=O=
//www.iprbookshop.ru/85948.html 

-?5>FD<G5E><5 E<EF5<O < E5F<. -=5D7>E
7> ?D>D5EE<>=4?L=>7> >5D47>64=<O / �. �. �?
6> .D4=F, 2021. 4 179 E. 4 (�D>D5EE<>=4?

5. 4 &5>EF : M?5>FD>==O= // �5D47>64F5?L=
/urait.ru/bcode/475673 

 �=65=5D=4O ?>47>F>6>4 7>D>4E><E F5DD<
E<>=4?L=>7> >5D47>64=<O / �. �. �?<>
5 <74., <E?D. < 4>?. 4 �>E>64 : �744F5?LE

>=4?L=>5 >5D47>64=<5). 4 ISBN 978-5-534-
�5D47>64F5?L=4O ??4FD>D<4 .D4

ode/472250 
 �>4>E=4565=<5 < 6>4>>F6545=<5 : GG55=

<>=4?L=>7> >5D47>64=<O / �. �. �46?<=>
<74., ?5D5D45. < 4>?. 4 �>E>64 : �744F5?LE
>=4?L=>5 >5D47>64=<5). 4 ISBN 978-5-534-
�5D47>64F5?L=4O ??4FD>D<4 .D4=F 

71257 
�E=>6O 7D44>EFD><F5?LEF64 < ??4=<D>6>4 =4

?>E>5<5 4?O 6G7>6 / �. �. �4746?G>, �. �.
, 2023. 4 90 E. 4 (�OEL55 >5D47>64=<5). 4 ISB
>==O= // �5D47>64F5?L=4O ??4FD>D<4 .D4
15498 

D46>6O5 4>FO 

.0.004-2015. �567>EG44DEF65==O= EF4=44DF. 
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 FD55>64=<O 
12.4.026-2001 %<EF5<4 EF4=44DF>6 557>?4E
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17 

5D47>64=<5). 4 ISBN 978-5-
>D<4 .D4=F [E4=F]. 4 URL: 
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 : GG55=>5 ?>E>5<5 / �. �. 
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 139 c. 4 ISBN 978-5-

?L=O= D5EGDE IPR SMART : 
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�?<<>64. 4 2-5 <74. 4 

<>=4?L=>5 >5D47>64=<5). 4 
4F5?L=4O ??4FD>D<4 .D4=F 

F5DD<F>D<= : GG55=<> 4?O 
�?<>D<=4, �. �. �E<=, 

4F5?LEF6> .D4=F, 2021. 4 
-07118-4. 4 &5>EF : 

.D4=F [E4=F]. 4 

GG55=<> < ?D4>F<>G< 4?O 
6?<=>64, �. �. �465=>6, 

4F5?LEF6> .D4=F, 2021. 4 
-00813-5. 4 &5>EF : 

=F [E4=F]. 4 URL: 

>4 =4E5?5==OE <5EF: 6<?>= 
�. �D54>>. 4 �>E>64 : 
ISBN 978-5-534-05160-5. 
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�GF56>4<F5?L ?> ��% : >FD4E?564O <=D>D<4F<>==>-4=4?<F<G5E>4O 7475F4 / ��� 

�54<47DG??4 «-&����». 3 2021, >>F. 3 $>EF>6 =4 �>=G, 2021. 3 565<5E. 3
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4. �><E>>64O E<EF5<4 Rambler. 3 http://www.rambler.ru 
5. �><E>>64O E<EF5<4 Yahoo. 3 https://www.yahoo.com/ 
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4.3. �5M<5 FD55>64=<O > >D74=<74F<< >5D47>64F5?L=>7> ?D>F5EE4 
 
�4=OF<O ?D>6>4OFEO 6 E?5F<4?L=> >5>DG4>64==OE 4G4<F>D<OE. 
�5O74F5?L=O< GE?>6<5< 4>?GE>4 > ?D><76>4EF65==>= ?D4>F<>5 (?> ?D>D<?N 
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�� 09. �>?L7>64FLEO 
?D>D5EE<>=4?L=>= 
4>>G<5=F4F<5= =4 
7>EG44DEF65==>< < 
<=>EFD4==>< O7O>4E 
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6. �%������%&� �%�����/ ��%&�����/ ��&��� % 
��$���'���/�� ��������%&/�� 

�5GG4NM<<EO E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO ?D54>EF46?ONFEO 
E?5F<4?L=O5 GG55=<><, GG55=O5 ?>E>5<O < 4<44>F<G5E><5 <4F5D<4?O, E?5F<4?L=O5 
F5E=<G5E><5 ED54EF64 >5GG5=<O >>??5>F<6=>7> < <=4<6<4G4?L=>7> ?>?L7>64=<O, GE?G7< 
4EE<EF5=F4 (FLNF>D4), >>47O64NM57> >5GG4NM<<EO =5>5E>4<<GN F5E=<G5E>GN ?><>ML, 4 
F4>65 GE?G7< EGD4>?5D56>4G<>>6 < F<D?>EGD4>?5D56>4G<>>6. 

�E6>5=<5 4<EF<??<=O >5GG4NM<<<EO E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO < 
<=64?<44<< <>65F 5OFL >D74=<7>64=> E>6<5EF=> E 4DG7<<< >5GG4NM<<<EO, 4 F4>65 6 
>F45?L=OE 7DG??4E. 

�E6>5=<5 4<EF<??<=O >5GG4NM<<<EO E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO < 
<=64?<44<< >EGM5EF6?O5FEO E GG5F>< >E>55==>EF5= ?E<E>D<7<G5E>>7> D476<F<O, 
<=4<6<4G4?L=OE 6>7<>6=>EF5= < E>EF>O=<O 74>D>6LO. 

� F5?OE 4>EFG?=>EF< ?>?GG5=<O ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O ?> 
>5D47>64F5?L=>= ?D>7D4<<5 ?<F4<< E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO ?D< 
>E6>5=<< 4<EF<??<=O >55E?5G<645FEO: 

1) 4?O ?<F E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO ?> 7D5=<N: 
3 ?D<EGFEF6<5 FLNF>D4, >>47O64NM<= EFG45=FG =5>5E>4<<GN F5E=<G5E>GN ?><>ML 

E GG5F>< <=4<6<4G4?L=OE >E>55==>EF5= (?><>745F 74=OFL D45>G55 <5EF>, ?5D546<74FLEO, 
?D>G<F4FL < >D>D<<FL 7444=<5, 6 F>< G<E?5, 74?<EO64O ?>4 4<>F>6>G), 

3 ?<EL<5==O5 7444=<O, 4 F4>65 <=EFDG>F<< > ?>DO4>5 <E 6O?>?=5=<O >D>D<?ONFEO 
G65?<G5==O< LD<DF><, 

3 E?5F<4?L=O5 GG55=<><, GG55=O5 ?>E>5<O < 4<44>F<G5E><5 <4F5D<4?O (<<5NM<5 
>DG?=O= LD<DF <?< 4G4<>D4=?O), 

3 <=4<6<4G4?L=>5 D46=><5D=>5 >E65M5=<5 =5 <5=55 300 ?N>E, 
3 ?D< =5>5E>4<<>EF< EFG45=FG 4?O 6O?>?=5=<O 7444=<O ?D54>EF46?O5FEO 

G65?<G<64NM55 GEFD>=EF6>; 
2) 4?O ?<F E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO ?> E?GEG: 
3 ?D<EGFEF6<5 4EE<EF5=F4, >>47O64NM<= EFG45=FG =5>5E>4<<GN F5E=<G5E>GN 

?><>ML E GG5F>< <=4<6<4G4?L=OE >E>55==>EF5= (?><>745F 74=OFL D45>G55 <5EF>, 
?5D546<74FLEO, ?D>G<F4FL < >D>D<<FL 7444=<5, 6 F>< G<E?5, 74?<EO64O ?>4 4<>F>6>G), 

3 >55E?5G<645FEO =4?<G<5 76G>>GE<?<64NM5= 4??4D4FGDO >>??5>F<6=>7> 
?>?L7>64=<O, ?D< =5>5E>4<<>EF< >5GG4NM5<GEO ?D54>EF46?O5FEO 76G>>GE<?<64NM4O 
4??4D4FGD4 <=4<6<4G4?L=>7> ?>?L7>64=<O; 

3 >55E?5G<645FEO =44?564M<<< 76G>>6O<< ED54EF64<< 6>E?D><76545=<O 
<=D>D<4F<<; 

3) 4?O ?<F E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO, <<5NM<E =4DGL5=<O >?>D=>-
46<74F5?L=>7> 4??4D4F4: 

3 ?<EL<5==O5 7444=<O 6O?>?=ONFEO =4 >><?LNF5D5 E> E?5F<4?<7<D>64==O< 
?D>7D4<<=O< >55E?5G5=<5< <?< =44<>F>6O64NFEOFLNF>DG; 

3 ?> 65?4=<N EFG45=F4 7444=<O <>7GF 6O?>?=OFLEO 6 GEF=>= D>D<5. 
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